5.6 Solving Quadratics, Part 3 Completing the Square & Quadratic Formula

Standards:	
A.REI. 4	
A.RE1.4a	
A.REI.46	



To use the "Completing the Square" method, you must:

- · Move the constant term to the other side of equal sign · Add $(\frac{1}{2})^2$ to both sides of the equal sign · Factor!
- Take the Square Root on both sides
 Solve for X.

Let's consider x2+bx+7=0. Solve for x.

$$x^{2} + 6x + 7 = 0$$

$$x^{2} + 6x = -7$$

$$x^{2} + 6x + (\frac{b}{2})^{2} = -7 + (\frac{b}{2})^{2}$$

$$x^{2} + 6x + 9 = -7 + 9$$

$$x^{2} + 6x + 9 = 2$$

$$(x + 3)(x + 3) = -7$$

$$(x + 3)(x + 3)(x + 3) = -7$$

$$(x + 3)(x + 3)(x + 3) = -7$$

$$(x + 3)(x + 3)(x + 3)(x + 3)$$

$$(x + 3)(x + 3)(x + 3)(x + 3)$$

$$(x + 3)(x + 3)(x + 3)(x + 3)(x + 3)$$

$$(x + 3)(x + 3)(x + 3)(x + 3)(x + 3)(x + 3)$$

$$(x + 3)(x + 3)(x$$

$$\begin{bmatrix} x comples \end{bmatrix} (2) m^{2} - 12m + 26 = 0 \\ m^{2} + 2a = 3 \\ m^{2} - 2a + (\frac{3}{2})^{2} = 3 + (\frac{3}{2})^{2} \\ m^{2} + 2a + 3 \\ m^{2} + 2a + 1 \\ m^{2} + 2a + 3 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 1 \\ m^{2} + 36 \\ m^{2} + 2a + 3 \\ m^{2} + 36 \\ m^{2} + 36 \\ m^{2} + 6x \\ m$$

New-B Quadratic Formula

Let's consider the standard firm of Quadratics Equation: $ax^2 + bx + c = 0$ Let's use the "Complete the Square" method to solve for x.



$$ax^{2}+bx+c = 0 \quad \text{must be set} \\ equal to 0.$$

Quadratic Formula: $x = -b \pm \sqrt{b^{2} - 4ac}$
2a
· Label a, b & c from Quadratic Equation
· Substitute a, b & c values into formula
· Compute x.
[Examples] Solve for x.
(D) $x^{2}-6x+3=0$
 $a=1$ $x=-b\pm\sqrt{b^{2}-4ac} = \frac{-(-6)\pm\sqrt{(+b)^{2}-4(1)(3)}}{2(1)} = \frac{b\pm\sqrt{24}}{2}$
 $c=3$ $= \frac{b\pm\sqrt{b^{2}-4ac}}{2a} = \frac{-(-6)\pm\sqrt{(+b)^{2}-4(1)(3)}}{2(1)} = \frac{b\pm\sqrt{24}}{2}$
 $c=3$ $= \frac{b\pm\sqrt{b^{2}-4ac}}{2a} = \frac{-(-6)\pm\sqrt{(+b)^{2}-4(1)(3)}}{2(1)} = \frac{b\pm\sqrt{24}}{2}$
 $c=3$ $= \frac{b\pm\sqrt{b^{2}-4ac}}{2a} = \frac{-(-6)\pm\sqrt{(+b)^{2}-4(1)(3)}}{2(1)} = \frac{-2\sqrt{b}}{2}$
 $a=2$ $x=-b\pm\sqrt{b^{2}-4ac} = \frac{-2+\sqrt{b}}{2}$ or $x=\frac{b}{2}-\frac{2\sqrt{b}}{2}$
 $a=3+\sqrt{b}$ or $3-\sqrt{b}$
(2) $2x^{2}+2x-3=0$
 $a=2$ $x=-b\pm\sqrt{b^{2}-4ac} = \frac{-2\pm\sqrt{(2)^{2}-4(2)(3)}}{2(2)} = \frac{-2\pm\sqrt{28}}{4}$
 $c=-3$ $= -2\pm2\sqrt{12} = -\frac{2}{4} \pm \frac{2}{4}\sqrt{7} = -\frac{1}{2} \pm \frac{\sqrt{77}}{2}$
This was created by techarged where $ggrs=\frac{1}{2}$ are not information, i.e. appendixed weighty com.



Let's consider the graph of y= x² - 8x + 15. y=x²-8x+15 How many solutions does y= x²-8x+15 have? 2 real solutions (crosses the x-axis trice).

Find how solutions y=x2-8x+15 may have algebraically?

Discriminant =
$$b^2 - 4ac$$

 $a = 1$ = $(-8)^2 - 4(1)(15)$
 $b = -8$ = 4
 $c = 15$

Because the discriminant is positive, there are 2 real solutions.

[Examples] Determine the amount of solutions each Quadratic has.

$$1 x^2 - 4x + 4 = 0 \qquad b = -4$$

Discriminant = $b^2 - 4ac$ = $(-4)^2 - 4(1)(4)$ = D

Because the discriminant is zero, there is only I real solutions.

(2)
$$y = x^2 - 3x + 4 = 0$$
 a=1
b=-3
c= 4
Discriminant = $b^2 - 4ac$
= $(\cdot 3)^2 - 4(1)(4)$
= -7

Because the discriminant is negative, there are no real solutions.